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. About which fort Abul Fazal remarks, “It is

situated at such a height that when looked at it
from bottom to top, turban falls off from head.”
(1) Chittorgarh fort ~ (2) Kumbhalgarh fort

(3) Mehrangarh fort ~ (4) Ranthambhore fort

. On 25™ March 1948, when Rajasthan Sangh
was created, which one of the following
group of princely states was not part of the
Sangh-

(1) Kota, Bundi, Jhalawar, Shahpura

(2) Dungarpur, Banswara, Pratapgarh, Tonk
(3) Udaipur, Dungarpur, Banswara, Pratapgarh

(4) Kota, Bundi, Kishangarh, Shahpura

. Which Lok Devta died during battle fought by
Akbar against Chittorgarh in the year 1567-68
A.D?

(1) Veer Fattaji (2) Veer Biggaji

(3) Veer Mallinath ji  (4) Veer Kallaji

. Who founded the ‘Samp Sabha’?

(2) Hardev Joshi
(4) Govind Giri

(1) Motilal Tejawat
(3) Gokul Bhai Bhatt

. Match the following-

Body part Jewellery
A Head l Kankati
B Neck I Rimjhol
C  Waist [II  Hansali
D Legs IV~ Memand
A B & D
() M Y | 11
(2) I I | Y
3) v 1l 11 I
4) v 111 I 11

1. 3igel Boret A fbe gt & ar A foran & g

a1 Sare W Rua & f& a9 S @ &R
e R RR 9 ) | iR Sl g 1

(1) Rritsre g (2) TG gl
(3) AexrTe gt (4) RorrRiIR

. 25 WA, 1948 @I TfSd NoNRIE @e A

Preafofaa <o Rarad & @9 @1 wE
wfeafera =&l o?

(1) PIeT, gral, STdrs, ey

(2) YRYR, FFATS], GATITS, Sib

(3) AR, YTRYR, AT, UdTITe

(4) ®IeT, T, [BeTe, AEYRT

. IpaR & favg fucdisTe MHIIT (156768

$9) ® I B W Al <adl gE dRd 8¢
AR TA?

(1) §R <1 St (2) 9R famm S

(3) R weelrer Sff - (4) dR el Sl

[ YT B AT e di?

(1) AKferTel dotrad (2) BXSq Sirefy
(3) Mgl A1g 9 @) mfa= ey
. f=feRaa & gafea sifs—
IR BT 3T STOT
A RR [ &®orhl
B el T Resie
C R [l &well
D iR [V e
‘ A B 9 D
(1) 11 \Y I 11
() 1 11 I Y
(3) 1V 11 1 I
4) 1V 11 I 11
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6. Which Rajput ruler was given the highest 6. PR A [ded HAWG (ard &) fea

Mansab Sapth Hajari by Akbar? RISTqd 9A% &1 faar or?
(1) Raja Bharmal (1) TSI MRES

(2) Motaraja Udai Singh (2) ArerTeT Sealie

(3) Raja Man Singh e

4) Raj
(4) Raja Bhagwant Das (4) ST g S

7. Who is well known by the name of “Roothi 7. “HSIET B AW A B GRg 27

Rani™? (Hsae - (2) Bure
(1) Umade (2) Roopade (3) 2T ard (4) ST TS
(3) Hansa Bai (4) Jodha Bai
8. Match the following- 8. f=faRaa &1 wafera #iforg—
Branch  of Founder IS TRIE &) 9T EEGED
SRRt A Rigeret [ e R
sect.
A Singhthal I Saint Ramcharan B ¥ . St A
B Ren 1 Saint Hariram Das C g LI AT YT
C Kherapa [l Saint Ramdas D =y IV 4= eRaM
D Shahpura IV Saint Dariyav 5 ” g ' b
A B C D (1) 1 11 11 v
(2) 1 v [11 | 3) 1 1 1 v
I | 1
©) : ¥ (4) Il N v 11
) 11 [ v Il

9. Famous Fair of Badshah is organised in 9. 4resig & URE ol YoRAM & frg e

which city of Rajasthan? q JrAfora grem 287
(1) Hindaun City (2) Karauli () fRveq R (2) Bl
(3) Beawar (4) Chaksu (3) TR (4) TRy,
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10. Match the following-

Book Author
A Hammir Hath I Chandra Shekhar
B Hammir I Nayan Chandra
Mahakavya Suri
C Kanhad-de Il Jayanak
Prabandha
D  Prithviraj Vijay 1V Padmanabh
A B C D
() 1 I1 I1 v
2 1 | I11 I\Y%
3 1 I v 1
@ 1 II IV Il
11. Which of the following is not correctly
matched? (Archaeological site - District)
(1) Kalibangan - Churu
(2) Ahar - Udaipur
(3) Ganeshwar - Sikar
(4) Bairath - Jaipur
12. “A pot which have holes in it and a lamp is
also lit inside it”, is the characteristic of
which dance?
(1) Garba (2) Ghudla
(3) Valar (4) Chari dance
13. Who among the following was not associated
with Bijoliya Peasant Movement?
(1) Chhaganlal (Chhaganraj) Choupasaniwala
(2) Vijay Singh Pathik
(3) Sita Ram Das
(4) Manikya Lal Verma
0A £

10. fr=faRaa @1 gafera difog—

11

12.

13.

ENED SIEED

A &9k & | I I LC
B ®HR ®Weldre 11 9 @ g
C @rEs e—vad Il SaH®
D AR fas@ IV ugHEAm™

A B G D
) 1 I Il v
2 I I I v
(G) 1 I v I
4 1 Il v 1

. PefRaa & @ wd gafoa T8 8-
(qRnTfcad werei—fotet)

(1) BrelET — TH

(2) 3MES — SEAR

(3) TOEaR — i

(4) SIS — STAYR

TI @1 faRwar 87
(1) =41

(3) TR

@) gee
(4) TR A

T A B9 fAoifern fFam sm=ied |
AR T8l o7

(1) BITellel (BIFRTST) Aara-Igrell

(2) fosra Rig ufdre

(3) HARM™ T

(@) mfere et g4
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14. In which session, the congress had accepted

15.

16.

17,

to start the freedom struggle in princely
states?

(1) Surat session - 1907

(2) Lucknow session -1916
(3) Lahore session - 1929
(4) Haripura session - 1938

Which Matrimonial relation was the cause of
discontentment between Maharana Rajsingh
of Mewar and Aurangzeb?

(2) Charumati

(4) Gunwati

(1) Roopmati
(3) Bhanumati

Which dynasty of Rajputana took part in the
tripartite struggle for the control over the city
of Kannau;j? '
(1) Chauhan

(3) Parmar

(2) Gurjar Pratihar
(4) Gehlot

Who was not a part of Maharana Sangram
Singh’s army in the battle of Khanwa?

(1) Mahmud Lodi

(2) Hasan Khan Mewati

(3) Hakim Khan Sur

(4) Maldeo Rathore

18. Which one of the following pairs is not
correctly matched?
(Temple-Place)
(1) Dwarikadhish Temple —  Kankroli
(2) Sundha Mata Temple ~  Bhinmal
(3) Aaimata Temple -  Bilara
(4) Jwala Mata Temple - Talwara

OA £

14.

15.

16.

L

18.

U9 F foa aftde § S woar
LT Y YRS AT bR faar?
(1) ¥ 2Aferaer= 1907

(2) @S ST 1916

(3) @R 3rfArIer 1929

(4) BRYRT 31feraer 1938

HIE B ARV OIRE & gRT (69
AGHANT & Wiy fdare & & BRoT
RO S ARTST oq7?

(1) SuHcd (2) =rsHAT

(3) wrgAfa (4) TqoTerehl

F W ARFR ¥g Fot B gg #
RISTYAT & fbd a9 & emaat 5 W forar?
(1) g8 (2) oR UfaER

(3) URHR (4) TTEelid

Al & Yg | AR YT Rig BT I
H B omfder T8 or?

(1) 7&qg <lid]

(2) 891 @i Aard

(3) &1\ @f ¥R

(4) HTeTed wIdle

fer=feriaa # & @9 wr va g wd Al
T8 87

(Af*eR—err)

(1) gIR®TeTer Affex —  BiepRIel

(2) ger =rar Jfer — T

(3) amgarar Afer - faerrer

(4) SaTelT Hiem |f*ex — dorareT
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fapn Hag @ ogER TS ¥ F M drl
frfolad @ERl & H1 ¥ @RS | )

19. In accordance to Vikram Samvat, arrange 19.
(from beginning to end) the following festivals

20.

painting is famous? (1) FrHR (2) g
(1) Bikaner (2) Bundi (3) ATAERT (4) SR
(3) Nathdwara (4) Jaipur

21. Which among the following has the highest ~21. 2011 @ SRTOMT & AR Fr=feRad & &
density of population as per 2011 census? fpadT SFEET uecd |aifid =27
(1) Lakshadweep (1) werg™
(2) Pondicherry (2) wifsard
(3) Dadra and Magar Haveli (3) TTERT AT TR &Il
(4) Daman and Diu (4) THF T <1

22. Birla cement works is located at — 22. fagen drre g srafkerd & —
(1) Chittorgarh (2) Kota (1) e (2) PIeT
(3) Bundi (4) Nimbahera A& (4) Frmes

23. The latitudinal extent of Rajasthan is - 23. XTSRRI HT AT R € —
(1)23° 3' Nto30° 12' S (1) 23° 3' 3. & 30° 12’ <.
(2)23°3' Nto30°12'N @23° 3 B9 30° 12’ S
(3)23°30' Nt030° 12' N () 23° 30' 3. W 30° 12 W
(4)23°3' Nto30° 21' N (4) 23° 3' . ¥ 30° 21' S

OA £ 6 of 24

in a one calendar year-

A Ganesh Chaturthi A TroreT =l
B Dipawali B <uraei
C Kirishna Janmashtami C WW‘E‘*—’I’(
D Gangaur D TR
(1) D ¢ A B o - A B
2) A B c D @) A B - D
3) C A D B
3) C A D B
4) D A C B
4) D A % B

Among which of the following Picchavai

STHRI—

20. fooare e waf @ uRig 87




24. Which of the following districts of Rajasthan

25.

26.

27,

have a common boundary with Gujarat?

1. Sirohi 2. Dungarpur

3. Pratapgarh 4. Banswara

Select the correct answer using the codes
given below —

(1)1,2,3and 4

(2) 1,2 and 3

3)1,2and 4

(4) 1 and 4

Som is a tributary of — 25.
(1) Sabarmati (2) Mahi

(3) Banas (4) Luni

The theme of World Enviroment Day - 2018 is

(1) Stop Deforestation
(2) Conserve Mangrove forest
(3) Beating Plastic Pollution

(4) Save Ozone save world

Match List — I with List — II and select your
answer from the codes given below —

List - I List-11

A Jalmahal Lake I. Alwar
B Pandupol water fall 2. Udaipur
C Lunaksar Lake 3. Jaipur
D  Fatehsagar Lake 4. Bikaner
Codes: A B C D
(1) 3 1 4 2
(2) 1 3 4 2
(3) 1 3 2 4
C)) 3 4 1 2

OA £

24.

26.

27.

frefefe # 9 woremE @& B Rl 9
AT T o ey 87

I RRE 2. YRE

3. YaraiTe 4. qrarsT

A RY gU &e &1 SuEnT ava gy wd
IR gAY —

(1)1, 2, 3 T 4

(2) 1, 2 T 3

()1, 2 7T 4

(4) 1 T 4

| Tdh HEhd el 8-

(1) |rexadt ot (2) =18 @

(3) 991 @l (4) T @Y

fawa gaiaxor ke — 2018 @1 (W) e 2
(1) T R b

(2) ATUT G B e
(3) <ITRE® YU BT IR BT
(4) 3STH F=men fava qems

A -1 B g - 19 gafera iy qer
e R I g F 3T SR giig-

-1 - 11
A SeHEd d 1. @R
B Uigdle Sewurd 2. SETIN
C UIHHR Shd 3. SRR
D WE 9FR #el 4. §iarR
®e: A B C D
(1) 3 | 4 2
) 1 3 4 2
(3) 1 3 2 4
4) 3 4 I 2

7 of 24



28.

29,

30.

31.

32.

Child sex Ratio (0 — 6 years) of India as per
2011 census is —

(1) 943 (2) 933

(3) 905 (4) 919

Which of the following is not a breed of
cattle?

(1) Malvi (2) Rathi

(3) Kankrej (4) Bagri

Deflection of wind direction is caused by —
(1) Gravitational (2) Centrifugal force
force

(3) Rotation (4) Temperature

Match List — I with List II and select the
correct answer using the codes given below —

List -1 List-11
A Challenger 1 North Pacific Ocean
Ridge
B Albatross 2 North Atlantic
Cordillera Ocean
C  Azores island 3 South Atlantic
Ocean

D Kuril island 4 South Pacific Ocean

Codes: A B C D
(h) 3 2 4 1
(2) 3 4 2 |
(3) 4 3 2 I
4) 2 4 3 1

Which of the following is NOT an example
of cold winds?
(1) Zonda
(3) Mistral

(2) Bora

(4) Pampero

28.

2011 @ SIRIOET & IHR WRd & dTel
fofmTd <% (0 — 6 d9) & —
(1) 943 (2) 933
(3) 905 (4) 919

29, f=ifoiRaa & O ®I9 |1 WG & % A6
27
OEIGE] (2) ST
(3) BB (4) arTSI
30. uaHi @ e ¥ fawed e SR B4 E,
qE 8 —
(1) ToAHY 1 (2) AUDUTd T
(3) ulRyH0T (4) argHT=
31. g -1 & g& - 11 & gafea i qen i
AU gU @e & IUANT FRA gU el SR g
=& - 1 T - 11
A TR Hed | IT WG ARTERR
B - 3redrgrd 2 IR redifed
PISTRT HERITTR
C TR g9 3 gfgyor Jrcdifed
HENTR
D ®R gy 4 <féror ged HErR
P A B C D
(1) 3 2 4 1
(2) 3 4 2 1
(3) 4 3 2 1
4) 2 4 3 |
32. FA=foRag & 9 &9 91 Ue 8 UdH &I
JEERT 8] 87
(1) Sifer (2) 9T
3) gt (4) TRY
8 of 24



33.

34.

33.

The
“Bhamashah

maximum insurance cover under

Swasthya Bima Yojna” in
Rajasthan is —
(1)Z 2 lacs

(3) T3 lacs

(2) ¥ 5 lacs
(4) T 4 lacs

The female literacy rate of rural Rajasthan, as
per 2011 census, is —
(1) 49.6%
(3) 45.8%

(2) 52.1%

(4) 41.3%

Which of the following are “National Parks”

of Rajasthan?

A. Mukundra Hills B. Ranthambore

C. Keoladeo Ghana D. National Chambal
Sanctuary

Select the correct answer from the codes

given below —

(1) B, C and D are correct.

(2) A, B and C are correct.

(3) A, B and D are correct.

(4) A, B, C and D are correct.

. Hokkaido and Honshu is separated by —

(1) Osumi strait (2) Toyama Bay

(3) Tsugaru strait (4) Bungo channel

. Which region of Rajasthan experience Aw

type of climate as per koeppen’s climatic

classification?

(1) Southern most region
(2) North Eastern region
(3) Western region

(4) Northern most region

OA £X

33

34,

35,

36.

3l.

RO § HTTNTE <@ 451 A @
sfaata ifermds drar ¥ & —

(DX 2<dmg (2)%5 <@

(3)%3 <@ (4) %4 o™

2011 B SAIVAT B ATAR ISR H
TTHIOT AR AR % | —

(1) 49.6% (2) 52.1%

(3) 45.8% 4) 41.3%

fFr=faRed # | wore™ @ Iy S §

A gg=<x1 feed B, 3oRmiR
C. Haeled °=T D. |9l ol
gy

i iy gU g 9 Wl S g -
(1) B,C @ D W& & |

(2) A, B @1 C W& 2|

(3) A,B @1 DR & |

(4) A, B, C @1 D W 2|

gIpTgSr qT B R @rar & —
(1) G STeTSHORE  (2) ST &) a1}
(3) S STeTSHHAE  (4) AT HoTTe (o)

BT B STAdTY THHET B SR ISR
@ fbu Uew ¥ Aw TR B werary urg
ST 87

(1) gféroras wger

(2) SR — Y&t yow

(3) uf¥=rdl wewr

(4) STRAH g2
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38.

39.

40.

41.

42.

Which of the following mountain range
originated in Hercynian period?

(1) Andes Mountain Range

(2) Aravalli Mountain Range

(3) Scandinavian Mountain Range

(4) Ural Mountain Range

In 2016 — 17 India’s trade deficit (in percent)
was highest with —

(2) Asia

(4) Africa

(1) Europe

(3) America

Which of the following is correctly matched?

River Tributaries
(1) Mahanadi - Hasdo
(2) Krishna - Pranhita
(3) Godavari - Musi
(4) Tapi - Ung
“I think that the policy of ............. alliances

of the cold war has not brought any such
results to the world” — Nehru.

In his speech, Nehru is pointing towards
which alliance?

(1) Foreign Economic Alliances

(2) Military Alliances

(3) Nuclear Alliances

(4) Cultural Alliances

Who among the following Governors of
Rajasthan has held the office of the member,
Rajasthan Public Service Commission, prior
to becoming Governor?

(1) Sukhdev Prasad

(2) Raghukul Tilak

(3) Professor Devi Prasad Chattopadhyay

(4) Nirmal Chandra Jain

38. fy=feiaa & @ fea uda &0 &1 ST

39.

40.

41.

42,

eRIf @rer 3 gan?
(1) TS yda &of

(2) 3RTael uda sl

(3) whfEAfaars uda sl
(4) 7T Tda Aol

2016 — 17 ¥ fhad AT WRA &I AR
Hrer (ufaerd #) |aifee or?

(1) IR (2) giRrr

(3) 3mRa®T (4) 3T

frefefaa § & @ a1 wel gaferd &7
GEl HERId Tl

(1) 7R - gl

(2) T - groTfEer

(3) TTETa - LSl

(4) ardy - Al

g T AR E — TE |

T 3G MY A e [hd Tedud Bl AR
SIRT B IE 87

(1) facsh anfefe wedus

(2) Afw TedgT

(3) URATY] TS

(4) AP TSaTH

R @ frifea weadrelt # ¥ B
TSI F B Gd ISR @l Hal ST
P e W@ B0

(1) g@E<d e

(2) ¥yl foerd

(3) NIHER <A YATE TSI

(4) forfer 9% SIF
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43. Which of

44,

45.

the
statements is / are correct in context to filing

following statement /
of the nomination paper in presidential
election of India?

(I) The nomination paper should be
subscribed by atleast fifty electors as
proposers and atleast fifty electors as
seconders.

A Candidate shall not be deemed to be
duly nominated for the election unless

(11

he deposits or causes to be deposited a
sum of fifteen thousand rupees.
(IIT) A candidate nominated by more than
one nomination paper has to make
only one deposit.
Correct option is —
(1) Tand IT

(3) I and 111

(2) Only 1
(4) 1, IT and III

E — Secretariat is — 44.

(1) Policy of state government
(2) A project of state government
(3) A new Secretariat

(4) A Software

Who among the following has not held the  45.

office of the leader of the House in

Rajyasabha during his tenure as Prime
Minister?

(1) Vishwanath Pratap Singh

(2) Dr. Man Mohan Siﬁgh

(3) H. D. Deve Gowda

(4) Inder Kumar Gujral

43.

XA & gachia Frated & ford s Aidere

U YA DA B AR H B G P

BT HEl 87

M M [AdeE 99 W Fn—J—h gErg
Fraresl & swarRr uwenust & wu §
IR FH-N—PH U Fatael @
BXARR Wil & Wy § 8 |

(1) BT sraeft &Y Pafes & R 99 T
RIS Wy 9 AW Afde 98 gwsn
SIRATT 5714 % 98 U758 B9R S &)
RIRT Forferet =&l wvar ar @wrer 2

(1) 18T &8 apeff v A Afe AW
e w=l grr am fAfde R 98t 59
A5 U 8T BT Bl § |

el fabeq g—

() 1ud 11 (2) B |
(3) 14d 111 (4) 1, 11 Tq 111
g — Wi & —

(1) II5Y IRBR BT =ifey

(2) I WRBR B TH gRATSTr

(3) Us d= Afrarer

(4) U HiHedaR

fifsa & 9 B, g @ ug W tEd
BY ISUHT H {Eq @ AT e <8 87

(1) faearrr gam Rig

(2) Si. #HIET Rig

(3) Ta. €. aiver

(4) ¥% BAR ORI

11 of 24



46. Who is the Chief whip of the Government

47.

48.

Party in Loksabha?

(1) Parliamentary Secretary

(2) Minister of Home Affairs

(3) Secretary General of Loksabha

(4) Minister of Parliamentary affairs

Which one the following Authors / Thinkers
of India has opposed the Idea of world
government and proposed a system of twenty
to twenty five regional federations on global
level?

(1) Sri Aurobindo  (2) Jasjit Singh

(3) Rajni Kothari (4) Bharat Karnad

The advice given by the council of Ministers

to the President can be inquired by —

(1) The Supreme Court of India

(2) Inquiry Committee constituted by the
Lok Sabha

(3) Rajya Sabha

(4) The advice does not fall under the

jurisdiction of any inquiry

46.

47.

48.

N T H ARBN Gl BT AR FRAdD DI
gar 87

(1) e afa

(2) & HA

(3) AAIE T BT FENIToT

(4) HHE B HA

fo=ifea § 9 fog IRy oad / faaRe
3 fivg WaR B AR &1 R & g
MNgd TR R d9 F T &g TR

g &1 fIaR uwgd fear?
(1) £t aRfe< (2) Srroita g

(3) XS BISRI (4) WA H1S

AR grr weufd o & T darg @
S @) S gepell & —

(1) wal=g =ararerd g1
(2) S 9T gRT TIfSa Sita |fifd grRT
(3) ¥Isg U7 g

(4) IE T Gird @ SRR H A8l 37l
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49.

50.

51.

52.

Match List — I with List — II and Select the
correct answer from code given below —

List—1 List —11
Chief Minister Governor
(A)  Bhairon Singh (1) Raghukul Tilak
Shekhawat
(B)  Barkatullah (i) Sardar Joginder
Khan Singh
(€©)  Mohanlal (iii) Drr.
Sukhadia Sampurnanand
(D) Vasundhara (iv) Madanlal
Raje Khurana
Code: (A) (B) (©) (D)
(1 (i) (i1) (i)  (iv)
(2) (ii) (1) (ii1) (iv) .
(3) () (if) (iv) (iii)
@ ) v G G

Who is Author of the book ‘Black Skin,
White Masks’?

(1) Nelson Mandela (2) Frantz Fanon

(3) Samir Amin (4) Martin Luther King

The idea of the office of the Attorney — General
in Indian constitution taken from which
country?

(2) Canada

(4) Australia

(1) Germany
(3) Britain

The Article 40 of the Indian constitution is
related to —

(1) Promotion of Co — operative Societies

(2) Free legal Aid

(3) Panchayati Raj

(4) Environment Conservation (Protection of
Environment)

49, g — [H A — 11 9 GAfora B 3R

50.

51.

9 R T e H W el SR B udd
BHITI—

g — | g — 11
HREHAl NEERIE]
(A) R Rig dam@a () gga fdas
(B) dX&eelle Wi (11) ¥NGR
SifR g
(C) Hred el (iii) Sf. TAuUiHe
grfEar
(D) TR I (iv) AETeATeA
R
@ (A) (B) (©) (D)
(N (1) (i1) (i) (iv)
) (ii) (i) (i) (iv)
(3) (1) (ii) (iv) (iii)
(4) (i1) (1v) (i) (iii)

RGH DI 87

(1) SeqT A=l (2) i BA

(3) TR I (4) e R fbm
qRA & GfauE § ge=IRErd] @ Ug &l
faar fooa <o < foram wram 87

(1) ST (2) TS

(3) fac=a (4) ameeferm

52. WG & GREM & IEE 40 BT THET B

(1) TR [rarRIfedl &1 da
(2) Frges faftre werdr

(3) UERIT 1S

(4) gITaROT HRETOT
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53.

54.

85,

56.

ST

58,

(1) September 1965

UNFCCC (United Nations Framework
Convention on Climate Change) entered into
force from —

(1) 21 March 1994

(3) 12 May 1991

(2) 5 June 1992
(4) 5 June 1993

The term of India as a non — permanent
member of United Nations Security Council
has been — (Till September 2018)

(1) 10 Years (2) 12 Years

(3) 13 Years (4) 14 Years

Who presides the selection committee of

members of  State Human  Rights

Commission?

(1) Chief Minister (2) Governor

(3) Chief Justice of (4) Chief Secretary
High Court

Which of the following Authors expressed
concern that the president of India might use
the powers apparently granted him by the
constitution to make himself a dictator?

(1) Penderel Moon
(3) William O. Douglas

(2) Alexendrowicz
(4) Alan Gledhill

Who did not get place as a separate electorate
in the Government of India Act 19357
(1) Muslims (2) Sikhs

(3) Parsees (4) Anglo — Indians

The nuclear non-proliferation treaty was
accepted by the general Assembly of United
Nations in —

(2) June 1968

(3) April 1966 (4) August 1967

53.

54.

55,

56.

57,

58.

Y U U AW W (FArSes AN hHad
B AT FATGHS A1) Bd AR §ITT?
(1) 21 Ard 1994 (2) 5 ST 1992

(3) 12 A 1991 (4) 5 T[T 1993

YT W YReT URYE & RATRM WA @
w0 H WRA & el BridTel W&l & — (Riday
2018 d®)

(1)10 ad (2) 12 a4

(3) 13 a4 (4) 14 o

I AFAIRIGR AMANT & wewl @ gad
afafe @1 sreuerdr eear & —

(1) gegH= (2) TSt
(3) IS S= R~ (DI BT =g
BT = RIrpfcd wfera

fArifea § A fod diwe 7 g8 Rrar ada
&) oft fb Ra &1 Irgufay wfdem gt ved
SIfaRTl B BRI Y AT §9 Tbdl 27
(1) U=l A (2) Yergorgifag
(3) faferas o, serd (4) UerH Torsfee

1935 & WRA WHR SMRAFRH H gud
Frates wfafafte 5= e w81 feun
o7

(1) gR<H (2) firg

(3) U (4) U sfvsam
URHIY] SUAR A BT WA A TR
ERT WIHR T T —
(1) Ryawax 1965

(3) 31Ut 1966

(2) 51 1968
(4) 3THT 1967
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59.

60.

61.

62,

OA

Which one of the following books has not 59
been written by Dr. B. R. Ambedkar?

(1) We the People

(2) The Problems of the Rupee

(3) Pakistan or the Partition of India

(4) The Buddha and his Dhamma

Which one of the following pair is not
correctly matched?

Leader - Idea

(1) Jaiprakash Narayan — Sampurna Kranti

(2) Deen Dayal Upadhayay — Ekatm

Manavwad
(3) Ram Manohar Lohia — Drain Theory

(4) M. N. Roy — Radical Humanism

Who among the following was a member of
the Sarkaria Commission?

(1) B. Shivaraman (2) Y.V. Chandrachud

(3) M. M. Punchhi  (4) K. J. Reddy

“Personally, I do not attach any importance
to the label which may be attached to it
whether you call it a federal constitution or
unitary constitution or by any other name. It
makes no difference so long as the
constitution serves our Purpose”, who made
this statement?

(1) Myron Weiner (2) Vallabh  Bhai

Patel

(3) Dr. Rajendra Prasad,  (4) Shiva Rao

15

60.

61.

62.

. Frifdse 3 1 IRl qs @ o Sl

3R, ISP T8l ©7

(H & & diger

(2) & il 3% <1 Bl

(3) urfepame @ik <1 wifde @ifw gfvear

(4) <1 g1 UUs RS e

feifsa # @ SiFar g w8 gaferd =@l

27
GG1

faar
— gt i
(2) €9 TUT SUTATR] — Udhleq AFIAS
(3) I FAIER difgar — oare Rigr

(4) T, UH. I — A9 HHIae

(1) STIYURTIT AR

fifohd § & B TRBIRAT AT & G
T ©?

(1) 4. Rrara= (2) 9. A1 TEgs
(3) TH. UH. gl (4) ®. O Y3
‘T WY W H §9 91 d BIs Ascd
T8 qar f& s eu Ad dfawE @
UHTHS QU 3erar fEAl oy A W
JHRA & | MR A 89X Seed & I
BT B Al AW | DS B A8l gedl”, T8
®U faadT 87
(1) AR R
(3) Sf. IoiT T

(2) goeTy WIS U

(4) f3rar <@
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63.

64.

65.

66.

67.

Which 1s the correct group of the chief

secretaries of the present state government

(2013 - 2018)?

(1) Rajiv Mehrishi, Nihal Chand Goyal, C. K.
Mathew.

(2) Rajiv Mehrishi, T. Srinivasan, O. P. Meena

(3) Rajiv Mehrishi, C. S. Rajan, Ashok Jain

(4) Rajiv Mehrishi, C. K. Mathew, Nihal
Chand Goyal

‘123 Agreement’ and ‘Hyde Act’ are related to

(1) India - United States Civil Nuclear Agreement

(2) India — United Kingdom Civil Nuclea:
Agreement

(3) India — France Civil Nuclear Agreement

(4) India — Israel Civil Nuclear Agreement

The members of Gram Sabha are —

(1) All-the residents of the village

(2) All the residents of the village who are
registered in the voter list

(3) According to the list given by the state
government

(4) The members nominated by the sarpanch

In April, 2018 under the ‘Village Swaraj

Campaign® in how many villages of

Rajasthan ‘The Mission Indradhanush
Vaccination Campaign’ has been
commissioned?

(1) 499 (2) 199

(3) 599 (4) 1099

Apurvi Chandela and Om Prakash Mitharwal
both are related to —

(1) Shooting
(3) Boxing

(2) Archery
(4) Sailing

63

64.

65.

66.

67.

G IS WRBR (2013 — 2018) H B &

afral o1 98 wE € -

(1) I5ig #efd, Frrae= mad, @, &, fey

(2) 3roirg #efd, €1, sifara=, i dn =

(3) ¥roitg #efd, . vH. o, 31l S

@) ol 78f¥, W & foy, fEea o=
MRIST

123 |HIAT Ud IS Yae' fray wrafid
27

(1) ¥Ra — MRS IRHE TRAT] Fweiar
(2) ¥Ra — 4T sRife u=wTo) wHsian
(3) WRA — Wi e WA AT
(4) ¥RT — ORI 3 aRHI] Fwsiar

T AT B e BT § —

(D) U™ & 1 Farn

(2) wrereTe | &St A B W e
(3) IS WRBR GRT Y& Gl TR
(4) ¥RU= gRT FE TS

aniet, 2018 BT ‘UTH RIS IR & d8d
RORAE @ fbaq WAl # e gy
ErBTHRT AT Hanferd fbar war?

(1) 499 (2) 199

(3) 599 (4) 1099

Hgdl =ee iR 3 T Rerare &1 day
14

(1) Fremarsh (2) ARETSN

(3) difargr (4) Arpra=
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68.

69.

70.

71.

72.

T3

Scientists received recently 4.7 million years
old marine fossils from which district?

(1) Udaipur
(3) Sirohi

(2) Jalore

(4) Jaisalmer

Where the state’s first three days ‘Archid
Festival’ concludes?
(1) Jaisalmer

(3) Udaipur

(2) Jodhpur
(4) Jhalawar

The Mukundara Hills Tiger Reserve will be
spread in which four districts of the state?
(1) Kota, Bundi, Baran, Tonk

(2) Kota, Bundi, Chittorgarh, Jhalawar

(3) Kota, Baran, Jhalawar, Sawai Madhopur

(4) Kota, Bundi, Baran, Jhalawar

Where will the state’s first ‘Defence Career
Institute” be opened?
(1) Sikar

(3) Jodhpur

(2) Alwar
(4) Dausa

Where Chief Minister Vasundhara Raje has
inaugurated (17 September, 2018) ‘The
Bhamashah Techno Hub’? |

(1) Udaipur
(3) Jodhpur

(2) Jhunjhunu
(4) Jaipur

Recently in which districts of Rajasthan huge
reservoirs of Potash has been found?

(1) Sri Ganganagar, Bikaner, Nagaur,
Jhalawar

(2) Sri Ganganagar, Hanumangarh, Sikar,
Baran

(3) Bikaner,  Churu, Sri  Ganganagar,
Hanumangarh

(4) Bikaner, Bundi, Bharatpur, Bhilwara

68.

69.

70.

71.

72.

3

It @ fora Rrel 9 4.7 a9 98 )/
STiaTed BTel B H UI< gU ©°

(1) SR (2) SR

(3) RRIE (4) SIS

gasl &1 g diF ey anfébs wRead”
FEl T §aTT?
(1) SITe™R

(3) STAR
ghax 2 ek Rod wg & 7 =R
forell # therr gh?

(1) ®reT, 941, 9RI, Tl

(2) ®reT, 441, RS, Smamars

(3) PYeT, dII, SIS, TaTg HIENYR

(4) dieT, 4al, 9rR0, Serdrs

HEl @il STT?

(1) A1 (2) TR

(3) SiErgR (4

HEIHAl qGERT XS] A HIHIYTE Sl 84 bl
Sqeres (17 Riawr, 2018) ®af fhar?

(1) ISP Q) T,

(3) SIEgR (4) STIYR

(2) SETgR

(4) SITCITATS

grel & H YoRAE @ b el 3§ uewr &
IR ISR et 27

(1) S TR, fieFR, AER, STadrs
(2) 21l AR, &HTE, aR, dRi

3) IR, g, 2N WIAR, EFHTE

(4) TR, &1, WRAYR, HirarsT
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74.

13

76.

77.

78.

The Geological Survey of India has recently
estimated Gold which

districts of the state?

reserves in two

(1) Udaipur and Banswara
(2) Banswara and Dungarpur
(3) Bhilwara and Chittorgarh
(4) Chittorgarh and Sirohi

Sunder Singh Gurjar is related to which
competition?

(1) Javelin Throw
(3) Archery

(2) Shooting
(4) Wrestling

Which of the following statement regarding

structural changes of India is not correct?

(1) Contribution of Construction Sector is
increasing in Gross National Product.

(2) Contribution of Manufacturing Sector is
increasing in Gross National Product.

(3) Relative
Sector is declining in Gross National

Contribution of Agriculture

Product.

(4) Relative Contribution of Mining and
Quarrying Sector is declining in Gross
National Product.

Due to which of the following factor Gross
National Product is always greater than Net
National Product?

(1) Income Received  (2) Capital
from Abroad Consumption
Allowance

(3) Indirect Tax (4) Direct Tax

During which five year plan, the national
income growth rate was the lowest?

(2) Third plan

(4) Eleventh plan

(1) Second plan
(3) Ninth plan

74.

75.

76.

77.

78.

ARATT J—dsnfe aderor v 3 g &
b1 a1 Rrell # W@l wveR 89 @1 A
8Tl €1 d aad fdar 87

(1) ISIYR T=AT ITHATS]

(2) qIAATST TAT IRYY

(3) VierareT den fereTe

(4) it qem RRIE

grex Rig ok @1 g fa uforaet &
g?

(1) Srafer o (2) frem=aTsh

(3) dRaTSH (4) Gy

9 B9 a1 beE IR srefarawern

P WEAHS IR D ey A GG a8l

77

() 9Fd TR Sared | At &5 @
ARG 9¢ V&l B |

(2) gl I IqTeA | fafemior &3 @
YIS 9¢ BT B |

(G)¥Whdl LT IAET H Y &7 B
ANfEs AR ue Y&l |

(4) el AT IUTed | WS Ud g+
BT ATfATS AT B 8T 2 |

e @ fha oRvr 3§ Sad TR Sare
g fAgE IS IeuTee o arfdrs wEar 87
(1) facei &1 ured o (2) Yot SusiT W
(3) 3eer B (4) Uy o

foa daadiy aOorr @ SR T g @Y

gfg aX R WEr?
() fedhia dromm (2) e o
(3) =l ArsT (4) TAREGT AreTT
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79.

80.

81.

82.

83.

84,

In which of the following, year growth rate
of agriculture sector was negative?
(1)2012-13 (2) 2013-14
(3) 2014-15 (4) 2015-16

According to Tendulkar Methodology during
2004-05 to 2011-12 which of the following
state of India has registered highest decline in
the poverty ratio?
(1) Rajasthan

(3) Orissa

(2) Bihar
(4) Jharkhand

Respect and prestige work as a motivation for
the individual. These motives are related to
which of the following category —

(2) Social

(4) Political

(1) Personal

(3) Physiological

The techniques by which we can study an
individual’s personality by observing his/her
style of life, behaviour, manner, thoughts and
feelings is called —
(1) Inventory (2) Case history

(3) Rating scale (4) Projective

Which of the following key process is not
included in the Social Cognitive Theory
(observational learning) of Bandura?

(2) Attentional

(4) Motivational

(1) Experiential
(3) Retentional

Which of the following is the best indicator

of high intelligence?

(1) Scoring 105 on an IQ (Intelligence
Quotient) test

(2) Reciting the address from memory

(3) Not making the same mistakes twice
when given the opportunity to repeat a
task after receiving feedback

(4) Earning high grades.

OA 2

79

80.

81.

82.

83.

84.

frer 3 & e af & of &3 @ gfy w
FUMCHE TB1?

(1) 2012—13 (2) 2013—14

(3) 2014—15 (4) 2015—16

degera fafr & SR 2004-05 W 201112

B 4 9IRGB oAt § W e e §

fAefar srgura # waifds i ool ag 82
(1) ISR (2) faer
(3) e (4) IRGUS

T IR gfossT afag & fore siffuRor @
TRE B PR B T R A=folRad # 9
P aoft @ wwfag € —

(1) Ffarra ) FrIfTE
(3) INR — wIffadt (4) RToTford

Igfad & Ifdda @1 AegqT )e @) G8
gy I gRT S|P Sifad Siell, AdER,
AR—pl, fIaRT iR 9rasmeil &1 raere
fbar S adar 8, e & —

(1) Ue=ITeety (2) Jufdds sreaas
(3) FuiRer A= (4) weyTor

Freferfaa 3 & @i 7w ufthar quswr &

RIS CIGEIB I L A S o

aifer) # wfafera =8 87

(1) THarcH® (2) IqHUTHTHD

(3) IRUTTHE (4) IfFHTROTHS

F=ffed & & @i Sea gfy &1 dad

4

() U® gfg afer wemr § 105 b g
BRAT

(2) ATE B TAT AT

) Tl B felt @t & ggEn

USUIYO] P JIR Ao R GERT 8
HAT

(4) ITg Aol Ui UTd HYAT
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85.

86.

87.

88.

89.

Children who are doing poorly in their school
often criticize their teachers for it. This
adjustment mechanism is called —

(1) Compensation (2) Sublimation

(3) Rationalization (4) Projection

H. Sheldon divided all human beings into
endomorphic, mesomorphic and
ectomorphic  categories  of  physical

dimensions. This theory of personality is
called -

(1) Type theory
(2) Trait theory
(3) Psychoanalytic theory

(4) Phenomenological theory

Which of the following statement is not

correct about the emotions of a child and an

adult?

(I) The child
emotions much more than the adult.

(2) The child’s
compared to adult.

freely expresses his/her

emotions are few as

(3) The child behaves emotionally even to a
weak stimulus as compared to adult.

(4) The

quickly as compared to child.

adult’s emotions are changed

Which of the following task is not related to
Torrance tests of creativity measurement?
(1) Unusual uses of common object

(2) Memorize a long poem

(3) Picture construction

(4) Ask and guess

In which of the following stage the rate of
physical development is slowest?

(2) Childhood
(4) Embryonic

(1) Adolescence

(3) Infancy

OA £

85.

86.

87.

88.

89.

aretd Sl e faemer W 3rsT Rl A8l
B & U 3O IEATTD] &) ATATaT DRl
g | gATIGH B a8 qIfE@! dEerl § —
(1) &fy — gfd (2) 2Ner

(3) aiiferer — werma= (4) gergor

U, Ueed H 9l wwil & ARIRE 3Tt
BT T, FADBR MR TraHrg A #
fovaa foear 81 afdda @1 ag figra
HEATT & —

() urey g (FeR Rigr)

(2) eergor Rigr

(3) FAIfagemur Rygr

(4) ge—fwan fasm Rigra

f=ferRaa § | SIar ©UF droid 3R Uie

® G D GV H HE T8 22

(1) greres Uig ¥ Afddh wWied wu # Faat
BT TERid axar B |

(2) 9Tt & HAT UIGl B AT | HH Bl
g |

(3) aTeA® e @1 gorm | fir Jeiue & ufay
Al FIHS AGER PR & |

) Ui & WA qred B oI H g
(Sre<)) uRafda & €|

TR @ GoCHBAT AT & OOeron §
ferfeRaa § & srar orf grafra & 87
(1) AT RN BT AT SUGRT

(2) T& T BiacT Bl ATG BHRAT

(3) fera fmfor @ear

(4) UBT 3R AT T30
frforRaa & & ®dt oravenr § RS
faprT & <% gad & 7fy I 'l /7
(1) freRmaven (2) draTaen

(3) SreTaraer (4) YoTTaRen
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90. Cattell’s Culture Free Test of intelligence is
a type of -
(1) Individual Verbal Test
(2) Group Verbal Test
(3) Non-Verbal Test
(4) Verbal and non-verbal Test both

91. Which of the following provision is most
suitable for slow learners?
(2) Acceleration
(4) Remedial
teaching

(1) Enrichment

(3) Competitions

92. Which of the following statement is correct
about the development of a child as an
individual?

(1) Development is product of hereditary.

(2) Development follows a random pattern.

(3) Development is a cumulative process.

(4) Different aspects of development are
isolated.

93. Educational
psychology for a teacher is -

Implication of educational

(1) Understanding the children or students
(2) Apply the rules of science in class
(3) Solve the school problems effectively

his’her Own
about the universe

(4) Correct misconception

94. In a class, students work together in groups
on a project, it is an example of -
(1) Instructional approach
(2) Behavioural approach
(3) Social constructivist approach

(4) Information — processing approach

90. P B FRPA o o §fE b1 U@
YHR BT G0 & —

(1) erfdara enfegd weeror

(2) wHfe® wfegd e

(3) rgnfeaa ueor

(4) enfegep MR srenfead T gieor

91. ot wfd & WrRaw gl 9re@dl @ R
rafalRea § 9 d9w uguE g9t

Sugad &?
(1) Faef= (2) @7 (fer aef=)
(3) uferafram (4) SYARTHS f3reqor

92. f=fead § 9§ d9ET U TP dreTd BI
Uph Afdd & w9 H e & ar § 9E) 27
(1)l Jrrarfirat &1 ulRomH 2 | '
(2) e va argfesd yrey R BT 2|
(3) fawra v Wl ufehar 2
(4) fapra & fafis wer gos €|

93. TS JeggSH b forg e w=ifasn @ dférs
fAfgare & —
(1) areiat / fenfiat & awsm
(2) fasi & Rt @1 e § SuarT BT
(3) fermerm & FWRIRN BT yMIdl TP W

AT BHRAT
@) fasa & IR ¥ I & Tod Gl Bi
GEIRAT

94. v werm # fenefi wEl # v wraeEn w
et} Hrd BYd B, T8 TP IEENT B

(1) JFTSTATHD SURTH BT

(2) ATERIP SUNTH HT

) wHifore Afifaardt surm &1
(4) @1 — UHIEgA SUNTH Bl
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95. Rohan is reading the latest comic book of

Bahubali because he cannot wait to see what
happens to Bahubali and his family. This is
best example of -

(1) Intrinsic motivation only

(2) Extrinsic motivation only

(3) Both intrinsic and extri‘nsic motivation

(4) Neither intrinsic nor extrinsic motivation

96. According to  Triarchic ~ Theory of
Intelligence, intelligence comes in analytic,
creative and practical forms. This theory of
intelligence is developed by —

(1) Howard Gardner (2) Robert J. Sternberg
(3) L. L. Thurstone  (4) E. L. Thorndike

97. Which of the following statement is not
related to the nature of educational
psychology?

(1) Educational psychology is a behavioural
science.
(2) It is a social science.
(3) It is a positive science.
(4) It is a normative science.
OA £

95.

96.

97.

e drgaeh @ AdqE FaEder @ gEid
e e 2, Wifs 98 ¥8 au $ I g
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(1) Beel MRE AU BT

(2) Bael aTal YR BT

(3) IR 3R d1a@1 ST YHR B AFTURT

BT

(4) = F 3maRe 3R A & dare RO Bl
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98.

99.

100.

OA

Match the column I (School of psychology)
and column Il (name of psychologists).
Column 11
C.L. Hull

Column 1

(i) Psychoanalysis (A)

(it) ~ Behaviourism  (B) Lev Vygotsky
(iii)  Gestalt (C) Sigmund
Freud
(iv)  Constructivism (D) Max
Wertheimer
(H(@)-B  (i1)-C  (iii)-Aand (iv)-D
(2)(1)-D (i)-C  (iii))- B and (iv) - A
3)()-C (ii))-A (iii)-Dand (iv)-B
4 @1)-C (1)-D (i) - Band (iv) - A

Positive facilitation of present learning
through past learning, for example addition
helps multiplication. This type of transfer of
learning is called -

(1) Conditional transfer

(2) Sequential transfer

(3) Bilateral transfer

(4) Vertical transfer

98.

99.

Die—1 ({AAISTE & w6e) 3R Bied — 11
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Hicd — 1 Pie — 11
(i)  wEIfaweyor (A) . T, '
(i) IgERATg (B) o famew
(ili) TReTee (C) Rywvs wias
(wrmara)
(iv) fffeare (D) AP g
(M @E)-B (ii)-C (iii)- A3 (iv)-D-
(2)(i)-D (ii)-C (iii)- B3R (iv) - A
(B)(i)-C (i)-A (iii)- D3R (iv) - B
@) (i)-C (ii)-D (iii)- B3R (iv) - A

fara arferm™ gRT ada= SiftrmE @1 gaTeE
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ERT oM ¥ WBRAT $RAT| 9 UBR Bl
3IfEATH RRITCRYT BEellal & —

(1) IFEETHD IHTIRYT (R0

(2) STIEhAS FATATTIROT

3) fgul¥de Term=Ror

(4) FRATR RATATIROT

Which of the following is not a suitable way 100. dicidl & MH-Uegd faeg @& forw
to develop self-concept of children? frrafoiRaa & 9 ®lqram a0@ YUY el
(1) Advise to avoid to face problems 8? '
(2) Giving freedom to child to make decision (1) w3l | g9 & o erg &
(3) Establish clear guidelines for behaviour (2) arert B Aok o 6 e <
(4) Communicate unconditional acceptance Q)R & fory we Wi gg venfid
and love DT
(4) fa=r ot & ieriar iR 99 @ auifg
HRAT
------------------ 00 CRNNEENSUNS. -, ', SRSNESUES ., { WU S
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